Trusts and Estates

I) Intestacy

A) Intestacy definition: Probate proceeding where the person dies without a will or does not account for his entire estate in the will.

B) UPC: Uniform probate code

1) 2-101(a): Partial intestacy: If a will does not account for all of the estate property, the property passes by intestacy.

a) Residuary clause: The residue to ______.  This is one way to take care of all of the rest of the property that is not provided for specifically in the will.

2) 2-101(b): Negative disinheritance: When the party says they do not want a person to get anything in their will.  Under this provision the person is treated as if they disclaimed their intestate share.

a) Negative disinheritances are not effective in many states (Wyo)

b) Cannot disinherit a spouse completely.

3) § 2-102. Share of Spouse. The intestate share of a decedent's surviving spouse is:
a) (1) the entire intestate estate if:
i) (i) no descendant or parent of the decedent survives the decedent; or
ii) (ii) all of the decedent's surviving descendants are also descendants of the surviving spouse and there is no other descendant of the surviving spouse who survives the decedent;
b) (2) the first [$ 200,000], plus three-fourths of any balance of the intestate estate, if no descendant of the decedent survives the decedent, but a parent of the decedent survives the decedent;
c) (3) the first [$ 150,000], plus one-half of any balance of the intestate estate, if all of the decedent's surviving descendants are also descendants of the surviving spouse and the surviving spouse has one or more surviving descendants who are not descendants of the decedent;
d) (4) the first [$ 100,000], plus one-half of any balance of the intestate estate, if one or more of the decedent's surviving descendants are not descendants of the surviving spouse. 

4) § 2-103. Share of Heirs Other Than Surviving Spouse. 
a) Any part of the intestate estate not passing to the decedent's surviving spouse under Section 2-102, or the entire intestate estate if there is no surviving spouse, passes in the following order to the individuals designated below who survive the decedent:
i) (1) to the decedent's descendants by representation;
ii) (2) if there is no surviving descendant, to the decedent's parents equally if both survive, or to the surviving parent;
b) (3) if there is no surviving descendant or parent, to the descendants of the decedent's parents or either of them by representation;
c) (4) if there is no surviving descendant, parent, or descendant of a parent, but the decedent is survived by one or more grandparents or descendants of grandparents, half of the estate passes to the decedent's paternal grandparents equally if both survive, or to the surviving paternal grandparent, or to the descendants of the decedent's paternal grandparents or either of them if both are deceased, the descendants taking by representation; and the other half passes to the decedent's maternal relatives in the same manner; but if there is no surviving grandparent or descendant of a grandparent on either the paternal or the maternal side, the entire estate passes to the decedent's relatives on the other side in the same manner as the half. 

5) §2-105: No Taker: If there is no taker under the provisions of this article, the intestate estate passes to the [state].

C) Wyoming statutes: The same since 1869
1) Wyoming '2-4-101 Rule of Descent; generally dower and curtesy abolished
a) (a) Whenever any person having title to any real or personal property having the nature or legal character of real estate or person estate undisposed of and not otherwise limited by marriage settlement, dies intestate, the estate shall descend and be distributed in parcenary to his kindred, male and female subject to the payment of his debts in the following course and manner:

i) (i) if the intestate leaves husband or wife and children, or the descendents of any children surviving, one half of the estate shall descend to the surviving spouse, and the residue thereof to the surviving children and descendants of children as hereinafter limited;


ii) (ii) If the intestate leaves spouse and not child nor descendents of any child, then the real and person estate of the intestate estate shall descend and vest in the surviving spouse.

b) (b) dower and the tenancy by the curtesy are abolished and neither husband nor wife shall have any share in the estate of the other dying intestate, save as herein provided.

c) (c) except in cases above enumerated, the estate of any intestate shall descend and be distributed as follows:


i) (i) to his children surviving, the descendants of his children who are dead, the descendants of his children who are dead, the descendants collectively taking the share which their parents would have taken if living.

ii) (ii) if there are no children, nor their descendants, then to his father, mother, brothers and sisters and to the descendants of brothers and sisters who are dead, the descendants collectively taking the share which their parents would have taken if living in equal parts.


iii) (iii) if there are no children nor their descendants, nor father, mother, brothers sisters, nor descendants of deceased brothers and sisters, nor husband nor wife, living, then to grandfather, grandmother, uncles, aunts, and their descendants, the descendants taking collectively, the share of their immediate ancestors in equal parts.

2) Wyoming  '2-4-102 Rule of Descent; illegitimate person
a) (a) The rule of descent of all property, real and personal of any illegitimate person dying intestate in his state and leaving property and effects therein, shall be as follows:

i) to the widow of surviving husband and children, as the property and effects of other person in like cases:

ii) If the deceased illegitimate person leaves no children or descendents of a child or children, then the whole estate shall descend to and vest in the widow or surviving husband.

iii) If the deceased illegitimate person leaves no widow, surviving husband or descendents, his estate shall descend to and vest in the mother and her children, and their descendents, one half 2 to the mother and the other half to be equally divided between her children and their descendents, the descendents of a child taking the share of the deceased parent or ancestors.

iv) if the deceased illegitimate person leaves no heirs, as above provided, the estate shall pass to and vest in the next of kin of the mother of such illegitimate person, in the same manner as the estate of a legitimate person would pass by law to the next of kin.

D) General

1) Intent: Intestacy statutes are designed to meet the intent of the dead person.

a) Usually, the amount left to the spouse is less than people would agree.  Usually only 50% goes to the spouse if there are children.

b) The intestacy statutes do not leave the property of a dead child to the parent of the child if the dead person has children: The policy is that the parents take care of the children, not the other way around.

2) Conflict of law: Law of Domicilary:  Most Trust and estate law will be giving full faith and credit and will recognize judgments from other states unless the conflict of law is conflict of public policy.

E) Definitions

1) Decedents: Dead guy

2) Descendants or issue: Kids or grandkids

3) Ascendants: Parents or grandparents

4) Collateral: any person related by blood that is not directly up or down the line.

F) Problem Applying UPC and Wyoming’s intestacy statutes

1) Howard has two children by Wendy.  Wendy has two children by Howard and a child by a previous marriage.  If Howard or Wendy dies intestate, what will be their share under the UPC and Wyoming?
a) Harold dies intestate

i) UPC: Wendy gets the first 150,000 and ½ of what is left

ii) The UPC gives less money to a spouse who has children that are not the descendants of the dead guy.

b) Harold dies intestate in Wyo: (§101 (a)(i))

i) ½ goes to the spouse and ½ goes to Harold’s children only, not Michael.

c) Wendy dies intestate

i) UPC: Harold gets the first 100,000, plus ½ half of the residue because Michael is not his (§102(4))

ii) WYO: Harold gets ½ and the three children split the other half.

G) Second problem applying the statutes

1) Husband dies, the wife and brother fight over the estate (Mother and father are dead)


a) UPC: The wife gets it all (§102(1)(i))

b) WY: The wife gets it all (§101(a)(ii))

2) The same situation as above except the mother of the husband is alive.

a) UPC: The wife gets the first 200,000 and then ¾ of the balance, the rest to the mother (§102(2))

b) WY: The wife gets it all.

H) Surviving co-habitators: When the people are not married but they are living together, or one is still married to someone else, what does the survivor get.

1) If the person is still previously married, must end the previous marriage first.

2) Common law marriage: Most jurisdictions have abolished this.  Some jurisdictions have brought it back for child support purposes.

a) States are required to recognize the laws of other states as long as it does not go against the public policy of that state: the common law marriage of another state will probably be recognized.

3) The only way the surviving person would be protected in WY would be through some type of K theory, either express or implied.

4) Hawaii: Allows people to establish reciprocal beneficiaries that allow some preferences (mainly property).  This is only available to those who cannot legally marry (same sex, immediate relative).

a) These rights are not as extensive as the ones recognized by the Vermont law.

5) Vermont: has the Civil union: Allows for common benefits: all of the benefits of marriage plus the responsibilities.

a) Cannot be a party to another civil union or marriage.

b) Have to be of the same sex and not related.

I) Divorce: Spouses remain spouses until after the divorce.

1) Abandoned or refuse to support: Some states allow that a spouse is not entitled to a share if they no longer supported the other spouse.

J) Simultaneous death

1) Common law: To inherit, the person must survive the one they are inheriting from for an instant in time.  Question: Who died first in the event of a common disaster?

2) Uniform simultaneous death act

a) If there is not sufficient evidence that one survived the other, the property is split in half and distributed to each person’s beneficiary.
i) If there is no sufficient evidence of the order of deaths, the beneficiary is deemed to have predeceased the benefactor.  Where title to property or the devolution thereof depends upon priority of death and there is no sufficient evidence that the parties have died otherwise than simultaneously, the property of each person shall be disposed of as if he had survived.  

b) Revision of the USDA: Requires that the person survive the other dead person by 120 hours or 5 days with clear and convincing evidence of that survival. (Rather than a preponderance).

3) Standards: how to determine who dies first

a) Cardio-pulmonary death: Irreversible cessation of respiratory and cardiac functions.

b) Brain death: Used when people are placed on artificial devices.  Irreversible brain death is determined by the usual and customary medical practice.

4) James v. Tarasewicy: Husband and wife take Tylenol laced with cyanide.  The wife is on life support and the husband is pronounced dead at the hospital.  The issue is who died first and who gets the insurance money, the wife’s heirs or the husband’s mother.

a) The husband’s mother claims that there is no sufficient evidence of who died first.

i) There is a burden of proof on the party’s whose monetary claim is dependent on survivorship.  The wife’s claim in this case.

b) Evidence that the wife had brain function (reactive pupil and EEG evidence) that the wife survived the husband.  The wife only had to survive for an instant longer.

5) Clause in will: It is legal to include a provision in your will that overrides the statute.

II) Definitions of terms in shares taken by descendants

A) Shares by representation: The descendant will take the share that their parents were entitled to.

B) Per stirpes: Where the division is done beyond equal shares.

C) Strict per stirpes: start the equal division at the generation below the dead guy.   Does not matter if everyone on that level is dead.  (The Wyoming statute is strict per stirpes).

D) Modern per stirpes: Begin per capita per stirpes at the generation level with the first living descendant
E) UPC 2-106 by Representation per capita at each generation
1) Policy: people at same generational level should be treated equally

2) Look for a breathing person (give them their share by representation)

3) Then add all dead peoples share (That would have taken on that level if they were alive) into a pot and divide pot equally at next generational level to those living.

4) Add all dead peoples share into a pot again and divide pot equally at next generation level until the $ is gone.

III) Shares of descendants

A) Shares by representation: The descendant will take the share that their parents were entitled to.








1) C gets 1/3, B gets 1/3, D gets 1/6, and E gets 1/6 

2) This is per capita per stirpes: Distribute equally at the level of the nearest descendant.

a) A’s share goes to D and E equally by representation: this is called per stirpes.

b) Per stirpes: Where the division is done beyond equal shares.

B) Same as above except that B and C are dead.

1) English distribution or strict per stirpes.

a) Still start the equal division at the generation below the dead guy.   Does not matter if everyone on that level is dead.

b) D and E get 1/6, F gets 1/3, G and H get 1/6.

2) Modern per stirpes: Begin per capita per stirpes at the generation level with the first living descendant

a) D, E, F, G, and H each get 1/5.

C) Example









1) Modern per stirpes: Begin the division at the grandchild level: D and F

a) D gets 1/3, F gets 1/3, G gets 1/6, and H gets 1/6

2) Strict per stirpes: Begin the division at the level nearest to the dead guy or the children.

a) D gets ½, F ¼, G 1/8, and H 1/8

D) Distribution under the UPC

1) The UPC follows the modern per stripes (p. 89)

a) Find the first live guy and start at that level.

b) F gets 1/3

c) Take the remaining 2/3 and divide that among the descendants on the next level: K, I, J, G, and H each get 2/15

d) This is called per capita at each generation.

E) Wyoming

1) Court construes the statute as a strict per stirpes statute.  The first divisional level is at the generation closest to the deceased.

F) 

1) Strict per stirpes

a) A, B, and C would get 1/3 if living.

b) I,J, and K each get 1/12

c) L, M, and N each get 1/9

d) O gets 1/6 and H gets 1/6

2) Modern per stirpes

a) H gets 1/5

b) I gets 1/5

c) J and K get 1/10

d) L, M, and N each get 1/15

e) O gets 1/5

3) UPC per capita at each generation

a) H gets 1/5

b) I, J, K, L ,M ,N, and O each get 4/35

IV) Shares of collaterals and ancestors

A) When

1) If there are descendants of the dead guy, the ancestors and collateral do not take.

2) Some jurisdictions; A parent would take along with the spouse.

3) The estate will go to the parents first before any other of the collateral kin.

4) Wyo: The parents, brothers, and sisters take the same portion (§2-4-101(c)(ii)).

a) 102: There is a different scheme for those who are illegitimate.

B) Examples page 91

1) Strict per stirpes

a) Start with the kids (brothers and sisters) if the parents are dead, Here, each brother and sister would get ¼.

b) B ¼, F ½, G 1/12, L, M, and N each 1/36, O ½, J 1/8, and P 1/8.

2) Strict per stirpes where B is also dead

a) F 1/3, G 1/9, L, M, and N 1/27, O 1/9, J and P each 1/6.

3) Modern per stirpes (B alive)

a) Same as the first strict per stripes because B is still alive

4) Modern per stirpes where B is also dead

a) F 1/6, G 1/6, L, M, and N each 1/18, O, J, and P each 1/6.

5) UPC, per capita at each generation (B alive)

a) B ¼, F, G, J each 1/8 (or 3/24), L, M, N, and O each 3/40.

C) Wyoming case: estate of Fosler: Dealing with collateral kin under Wyoming law

1) Mrs. Fosler dies intestate with no descendants, the next of kin are collateral cousins.

a) This falls under 2-4-101 (c)(iii); The question for the court was where the division began.

2) Grandmothers, Grandfathers, aunts and uncles are all in the same group under the statute so the initial division begins here.  The initial amount in this case is divided by 7.

a) The people who are in that group are dead, their share descends to the next generation. 
3) Wyoming  §2-4-102 Rule of Descent; illegitimate person
a) (a) The rule of descent of all property, real and personal of any illegitimate person dying intestate in his state and leaving property and effects therein, shall be as follows:

i) (i) to the widow of surviving husband and children, as the property and effects of other person in like cases:

ii) (ii) If the deceased illegitimate person leaves no children or descendents of a child or children, then the whole estate shall descend to and vest in the widow or surviving husband.

iii) (iii) If the deceased illegitimate person leaves no widow, surviving husband or descendents, his estate shall descend to and vest in the mother and her children, and their descendents, one half 2 to the mother and the other half to be equally divided between her children and their descendents, the descendents of a child taking the share of the deceased parent or ancestors.

iv) (iv) if the deceased illegitimate person leaves no heirs, as above provided, the estate shall pass to and vest in the next of kin of the mother of such illegitimate person, in the same manner as the estate of a legitimate person would pass by law to the next of kin.

4) Additional fact: Mrs. Fosler was illegitimate

a) Use statute 2-4-102: Illegitimate: This is a person who was born to unwed parents.

b) Same rule if the person dies with no spouse or descendants.  Changes if there are no spouse or children.

c) 2-4-102 (a)(iii) and (iv)

i) The estate passes to the mother’s next of kin, but not to the father’s side.

d) It is unconstitutional for the state to discriminate on the basis of illegitimacy without surviving intermediate scrutiny.  This statute does not discriminate against the illegitimate child, but the father of the child who is not in a quasi-suspect group.  Arguments could go either way.

D) Table of consanguinity (p.92)

1) The first line collaterals are the mother, father, brothers, sisters and their descendants.  The problem gets more difficult if these people are dead.

2) Parentelic system: Goes to the grandparents and then to their descendants, if there are none then to the great-grand parents and their descendants and so on.

3) Degree of relationship: Use the table of consanguinity: Inheritance depends on the degree of relationship.

4) Problem 1 P. 96

a) UPC: 100 % to the mother under 2-103(3)

b) Wyo: Sister 3/8, mother 3/8, c 3/16, and d 3/16.

i) The father is part of the class for the initial distribution and then it is distributed per stirpes.

5) Problem 2 p. 96

a) UPC: C1 gets ½, C2, C3 each get ¼ (103(4))

b) Wyo: C1 gets ½, C2 and C3 each get ¼.

i) The initial distribution is divided by six, grandparents plus uncles.

c) Double cousin provision: UPC §2-113:This person is only entitled to a single share based on the relationship that would entitle the individual to the largest share.

d) WY: double cousin would get 5/7

6) Problem 3 p. 96

a) UPC: 100% to the first cousins grand-daughter (103(4))

i) Intestate succession is cut off after the grandparents.

b) Wyoming: Same way 101(c)(iii)

c) Mississippi: 100 % to B

i) If the cousins are of the same degree of relationship, goes to the one with the nearest common ancestor with the dead guy.

7) Half bloods: p. 97
a) Wyoming: In most jurisdictions including UPC a relative of the half blood is treated the same as a relative of whole blood (2-4-104: Persons of half blood inherit the same share they would inherit if they were of the whole blood, but stepchildren and foster children and their descendants do not inherit.)

i) Virginia: half blood is given a half share

ii) Mississippi:   half blood only takes when there are no whole blood relatives 

iii) Oklahoma: half bloods are excluded when there are whole blood kindred in the same degree and the inheritance came to the descendant by an ancestor and the half blood is not a descendant of the ancestor.

b) The ancestorial property doctrine: Some of the property in C’s estate was given to C by his grandfather.  A half brother or sister would not inherit any property that came from the separate bloodline.  There are only a couple of state that follow this doctrine.

c) Example:

d) UPC: ½ to A and ½ to B

e) Va: A ¼ and B ¾

f) Miss: 100% to B

g) Wyoming: 5/8 to B and 3/8 to A

i) The original division is M1/4, H2 ¼, A ¼, and B ¼

V) Transfer to and the meaning of children

A) Posthumous children

1) When the child was conceived before the father’s death: The child is treated as the dead fathers for inheritances as long as the date of conception is before the death of the father.

a) The uniform parentage act says the presumption is 300 days.

b) There is a rebuttable presumption of 280 days.
c) Wyoming: Wyoming  §2-4-103 Posthumous person: Persons conceived before the decedent’s death but born thereafter inherit as if they had been born in the lifetime of the decedent.

B) Adopted children

1) Wyoming: 2-4-107: The relationship of the parent and child.

a) Adopted child inherits from the adoptive parents and their relatives.

b) Child also inherits from the natural parents.  (For inheritance purposes only).

2) UPC 2-114 p. 101

a) An adopted child inherits from adoptive relatives but not their natural relatives; but inherits also from natural relatives if the child is adopted by a stepparent (The spouse of a natural parent).  But in a stepparent adoption, the children can inherit from their natural relatives, but the natural relatives cannot inherit from them unless the parent openly treated the child as theirs and has not refused to support the child. 

3) Contract theory of adoption (Couple of states)

a) Person can only inherit from the adoptive parent, not from the adoptive parent’s family.  Cannot force an heir on someone who is not a party to the transaction.

4) Hall v. Vallindinham (Maryland)

a) The father dies, the widow married Jim who adopted the dead guy’s children.  The natural father’s brother dies and the children want to inherit from the uncle.

b) The older statute cut off the children from inheriting from the natural father’s family.  The court says the new statute also does.

c) Policy: The state does not want to give extra benefit to adopted children by enabling them to inherit from two lines. Also, an absolute severance from the natural family may facilitate the new family.  The natural parents may be difficult to find.  A few states follow this.

5) PA: Any of the natural family may inherit if they can prove a family relationship.

6) Dual lines and adopted children

a) M adopts X before she dies.  X is now the daughter and the granddaughter.

b) Wyoming: X would inherit ¾ as the daughter and Y would only get ¼.

c) UPC: Person would only inherit the greater share if there are dual lines.

7) Same sex partners

a) Most states do not allow the same sex partner to adopt.

b) UPC (Under 2-114 above): Would only be the child of LP because LP was not a spouse.  Mother’s (S) parental rights only remain if the natural mother’s spouse adopts: adoptive parent must be the spouse of the adoptive parent.

i) Flow does not go up the chain to the natural parent unless they have openly treated the child as his or hers.

8) Adult adoptions: Reasons

a) The person’s natural parent would not consent when the person was a minority.

b) Avoid will contests: The only people who can contest a will are those who would be able take under the intestacy statute.

c) Statute characteristics

i) NY: Cannot adopt a same sex lover.

ii) May cut the adopted person from their natural family.

C) Non-Marital children

1) Common law: A child born out of wedlock was the child of no one.

2) Now: Non-marital children must be given a chance to prove parentage or the laws are unconstitutional as a violation of the equal protection clause and discriminatory against a protected class.

3) Wyoming parentage act: §13-2-102: Presumptions: If the court determines that certain facts exist, the child is the father’s unless it is rebutted.

a) Marital presumption

i) Child is born during the marriage or within 300 days of the marriage.

ii) Before the marriage and their is a voluntary promise to care for the child.

b) Holding out as a parent presumption

c) Formal acknowledgement: At birth, the father signs an affidavit showing parenthood (father can withdraw this acknowledgement within 60 days).  After 60 days this presumption is not rebuttable, not even by the natural father.

i) The only way for the mother and father who signed this to get out of it is to show fraud, mistake, or duress.

d) Genetic match

4) Time limits: marriage presumption

a) Either parent: To challenge the presumption when the birth was during marriage: Within a reasonable time or 5 years of the birth.  The 5 year window is not always there.

i) The marital presumption is not often allowed to be challenged.

b) The child or the state wants to challenge: Within three years of reaching the age of majority or the age of 21.

c) If any other man wants to challenge the presumption and assert parenthood: Within six months of the child’s birth.  The judge is likely to disallow genetic testing.

5) Time limits: holding out presumption

a) The statute states any time.

b) Still must comply with the time limits of the other presumptions.

6) Genetic match time limit: §105

a) The child or the state has 21 years or three years within the age of majority.

b) Any other party: not later than five years after the birth of the child.

7) Presumptions and time limits 

	Presumption
	Action
	Time

	Marital
	Establish
	Anytime

	
	Challenge
	Child or state: Majority plus three years

Mother or father: Reasonable time or 5 years

Any man: 6 months

	Holding out
	Establish
	Anytime

	
	Challenge
	Anytime

	Formal acknowledgement
	Establish
	Anytime

	
	Challenge
	Signatories: 60 days

Anyone else: never

	Genetic or None
	Establish
	Child or state: Majority plus three years

Other: 5 years


8) Possibility for the child to establish paternity

a) The kid wants to say that the marital father is not the natural father: Kid can rebut until they are 21.

b) Holding out: anytime: 14-2-105(b): The time is not extended by that allowed by the probate code.

9) Artificial insemination issues 

a) Issue: property: Is sperm property so that it can be distributed with the estate?

i) The sperm itself is not property; just property to the extent that the father can control the decision making regarding the sperm.  This right can be transferred via will. (Contrary to the Moore case where the court said a person has no interest in tissue that has left their body).

ii) Argument against allowing post-mortem insemination: The court will look at the intent of the sperm provider: if both of the people want the child, the court will not interfere.

iii) Insemination of an unmarried woman: There is no public policy against insemination of an unmarried woman because there are statutes allowing.

b) Hecht v. Superior court: The man deposited sperm and left it to his girlfriend in his will and then killed himself.  The other children of the man disputed the will.   The trial court ordered the sperm destroyed and the AC reversed.
c) Social security Act: posthumously conceived children are allowed to receive Ssoc. Sec. Benefits via dead parents.

d) Other issues dealing with insemination

i) Rule against perpetuities.

ii) Intent of the donor

iii) USCACA (Assisted conception act): Posthumous conception is not the child of the dead parent.

D) Advancements

1) Definition: A person dies intestate, a determination needs to be made if the child of the person had received any advancements on their portion of the estate during the dead guy’s lifetime.

a) Common law: The burden was on the child to show that a gift was not an advancement (Presumption of advancement).  The rule applied even if the child predeceased the parent (the advancement flows to the child’s children).

b) The doctrine is based on the presumption that the parent would want an equal distribution of assets among the children and that true equity can be reached only if lifetime gifts are taken into account in determining the amount of the equal shares.
c) Problems with the common law is determining what exactly an advancement is.

2) Statutory reversal:

a) Most states have reversed the common law presumption to make gifts presumptively not advancements.

b) Declared advancements require a contemporaneous writing by either the decedent or an acknowledgment by the heir.

i) The declaration writing must be made at the time of the giving.  Acknowledgement writing can be made at any time.

c) This strict rule protects the heirs and not the devisee.

3) Wyoming Stat. '2-4-108 Advancements generally;

a) (a) if a person dies intestate, property which he gave in his lifetime to an heir is treated as an advancement against the latter=s share of the estate only if declared in a contemporaneous writing by the decedent or acknowledged in writing by the heir to be an advancement.  If the recipient of the property fails to survive the decedent, the property is not taken into account in computing the intestate share to be received by the recipient=s issue, unless the declaration or acknowledgement provides otherwise.

b) (b) The maintenance, education or supply of money to a minor, without any view to apportion or settlement in life, is not deemed an advancement under this Section.

4) Issues with advancements

a) Advancements do not flow to a person’s heirs

b) Advancements are valued as of the time the heir came into possession.

c) UPC: Valued when the person received or when the testator died, whichever comes first (accounts on future interests)

5) Computing advancements

a) X gives A a 30k advancement and then X dies with a 60k estate.

b) Add the 30 and the 60.  Divide by three.  Subtract the 30k advancement from A.  Above B and C would get 30k.

c) If A is dead

i) Common law: The advancement passes on to A’s descendants.

ii) Modern view: The advancement does not pass on to A’s descendants.

d) If A’s advancement is greater than his intestate share, A does not have to pay back the difference to the other children.

E) Expectancy

1) No one has an heir until they are dead

2) Before you die, they are heir’s apparent and they only have an expectancy (Can be destroyed by will) which is not a property right so the heir apparent expectancy cannot be transferred.

a) However, a purported transfer of an expectancy for an adequate consideration, may be enforceable in equity as a contract to transfer if the court views it as fair under all circumstances.  Equity scrutinizes such transactions to protect prospective heirs from unfair bargains.  

F) Transfer of property to a minor: Managing a minor’s property (p. 132)

1) It is very important to have a will if you have children to designate a guardian because a minor does not the legal capacity to manage property.

2) Have to deal with the issue of managing the minor’s property

a) Statutory guardianship is burdensome and expensive. Guardian of property who does not have title to the ward=s property, usually cannot change investments without a court order.
3) The best way to manage a minor’s property is by will.  Designate a guardian for the child and create a custodianship or a trusteeship.

a) Property is held for the benefit of the child under the Uniform Transfers to Minors act

b) The guardian has to transfer any unspent money to the minor at the age of 21.

4) A designated custodian has broad discretion (Court does not get involved unless minor contests actions of custodian)
a) Can expend the estate for the use and benefit of the minor.

b) Magic words: 34-14-116: as a custodian for ___________ under the UTMA.

5) Trust for managing minor’s property: this is the most flexible

a) You can put a limit on what the money is used for.

b) Can require an older age before the money is turned over to the minor.

c) This is still subject to the rule against perpetuities.

d) Can give the trustees different duties.

VI) Bars to succession

A) Homicide

1) Three ways that a court could go when there is not a statute:

a) The legal title passes to the slayer in spite of the crime.

b) The legal title does not pass to the slayer on equitable grounds.

c) The legal title passes to the slayer but the slayer is a constructive trustee for the heirs or next of kin of the decedent.  The only duty of the slayer as trustee is to convey the property to the next of kin.

2) The intent of the slayer

a) Distinguish between voluntary and involuntary manslaughter.  Courts do not want the slayer to profit if the killing was intentional.

b) Majority of jurisdictions hold that killing must be intentional and felonious
3) UPC

a) Also applies the murder to non-probate transfers.

b) Spells out what kind of conduct: intentional and felonies.

c) Spells out who will take instead of the slayer; treat the estate as if the slayer had disclaimed their share.

d) A criminal conviction is conclusive: Absence of a conviction only requires a preponderance of the evidence, not beyond a reasonable doubt.

4) Wyoming: 2-14-101

a) The rule applies to life insurance proceeds.  May not apply to other non-probate transfers.

b)  Intentional: the court said the homicide must be intentional.

c) Distribution of the estate: Subject to distribution among the other heirs of the dead guy.  Does not state if the slayer’s heirs inherit.  (Also applies to life insurance proceeds).

5) Estate of Mahoney: The wife killed the husband who was intestate (Manslaughter).  There was no statute dealing with the problem.  The probate court gave the money to the husband’s parents.  AC wanted to know if it was intentional manslaughter (And if it was, would use the constructive trust theory).

B) Disclaimer

1) Common law: Could not disclaim because of feudal obligations.  The creditors would also be able to reach the property even if there were a disclaimer.  If the person dies with a will, the person could disclaim.

a) Modern statutes: Do away with the disclaimer common law rule.

2) Wyoming Statute §2-1-401 Right to disclaim

a) Any person may disclaim any interest in property which without a disclaimer he would received by gift, bequest, devise, inheritance or would pass by right of survivorship.

3) Wyoming Statute §2-1-404 Disposition of disclaimed interest

a) (i) the interest disclaimed reverts to the transferor if he is living on the date of disclaimer

b) (ii) the interest disclaimed passes under the residuary clause of the transferor’s will if he died prior to the disclaimer.  If the disclaimant is a residuary beneficiary under the will the interest disclaimed passes as though the disclaimant did not survive the transferor.

c) If the transferor dies intestate, distributed as though the disclaimant did not survive the transferor.

d) Basically see where the money goes under the intestacy statute if the person were dead, use strict per stirpes.
e) See S2-1-403: Requirements of how to qualify as a disclaimer: Timing, form, and other treatment.  Disclaimer must be an irrevocable and unqualified refusal of an interest in property under the IRC so gift tax liability won’t result.  The donee has nine months to disclaim or after donee reaches 21 whichever is later.

4) UPC (Treats a little differently because of per captia at each generation)

a) A disclaims his share of the estate.  Treat A as if he has pre-deceased O.  Instead of A’s children getting the same as C, A’s children only get to split A’s share or get ¼ of A’s 50%.

5) Cannot use the disclaimer to get standing in a will contest (eg; children of the party disclaiming).

6) Reasons to use a disclaimer

a) Avoid the tax on the gift: Pass onto the children if the party would not be able to use the gift anyway.

b) Disclaim property: Property can be a liability for example if there is toxic waste on the property.

c) Avoid creditors: Let it pass to your children instead of letting the creditors have it.

7) IRS 2518

a) Only qualified disclaimers work to avoid tax and there are time limits for them.  Wyoming is in accord with these regulations but make sure the state is in accord with the IRS statutes.

8) Troy v. Hart

a) The P is a Medicare recipient when he inherited money.  His sister talked him into disclaiming and she got the dough.

b) The court holds that the disclaimer is valid but because he is on Medicare, the court holds that the money went into a constructive trust for the state to reimburse for the Medicare expenses.

VII) Wills: capacity 

A) Any person of legal age and sound mind may create a will.  Why is there a need for a sound mind:

1) To reflect the testator’s true testamentary intent; the belief is that an insane person is irrational and therefore not able to reflect true intent.

2) Being insane is not being a “person”; Philosophical approach.

3) Protect the decedent’s family: Looks at the family as an economic unit.

B) Capacity is determined at the time the will is drafted 

1) An insane person can have a lucid period and be able to execute the will at that time.

2) It takes less capacity to bequeath than it does to make a K or a gift.

C) General rule for gauging general capacity: The testator only has to have the ability to know:

1) The nature and the extent of the testator’s property.

2) The persons who are the natural objects of the testator’s bounty.

3) The disposition that the testator is making, and

4) How the elements relate so as to form an orderly plan for the disposition of the property.

D) Insane delusion

1) An insane delusion is a false conception of reality where the testator adheres to the delusion against all evidence and reason to the contrary.

a) Minority of jurisdictions: There is no insane delusion if there was any factual basis for the testator to draw the conclusion.  (Wyoming follows the minority).

b) Majority: If a rational person in the testator’s position could not believe the way the testator did, it is an insane delusion.

c) A person can have general mental capacity to create a will but suffer an insane delusion as to a particular provision of the will.

d) The courts may look at idiosyncratic behavior to call the testator delusional to ensure that the testator devises their estate in accordance with the prevailing normative views and morals.

e) The burden is on the person challenging the will to show that there was an insane delusion.

2) Result of finding an insane delusion

a) Only the part caused by the insane delusion fails.

b) It will cause a particular provision of the will, or possibly the entire will, to fail for the lack of testamentary capacity.  The result in these cases may depend on what the court thinks is just.

3) Stritmatter case: The court determines that a woman does not have capacity because of severe feminism and set the will aside.

a) It was her paranoiac condition, especially her insane delusions about the male, that led her to leave her estate to the party.

4) Honigan case: The husband does not leave property to his wife.  The wife is trying to get the will set aside because he had an insane delusion about her having an affair.  NY law at the time would not allow him to cut the wife out entirely but he did as much as the law allowed.

a) Proponents of the will arguments: There were other reasons for the drafting of the will provisions in question; need of the relatives and the wife’s own fortune. There was evidence that was pointed to, but none of it was even close to conclusive and helped to show his idiosyncrasies.

b) The issue was whether the husband had any rational basis to base his delusion, and the court said no.

c) Courts like to state a moral ground; who is morally entitled to money?  Frank and his wife worked together in various restaurants.  If court thinks that result is fair, it is more likely to invalidate will (This case: Under the statute the siblings still got half and the wife got half.)

E) Mistake: Difference between mistake and insane delusion

1) An insane delusion is a belief not susceptible to correction by presenting the testator with evidence indicating the falsity of the belief.

2) A mistake is susceptible to correction if the testator is told the truth.
3) What happens if it is a mistake:  As a general rule courts do not reform or invalidate wills because of the mistake whereas they do invalidate wills resulting from an insane delusion.  

VIII) Undue influence

A) The contestant must show influence that resulted in the control of the testator’s mind with regard to the testamentary intent.  Mental coercion that destroyed the testator’s free agency and forced him to embody someone else’s intention in his will in place of his own. 3 Elements:

1) The testator was susceptible to undue influence;

a) Factors: Age, bias of the court, closeness (contact or related) of the person getting the property, Sophistication of the parties or confusion, state of mind of the testator, health of the testator.

2) The alleged influencer had the disposition and the opportunity to exercise influence.

a) Factors: The amount of money in the estate, the testator’s attitude towards the natural bounty of the estate, access to the testator.

3) The disposition was a result of the influence

a) Unnatural disposition, linked to the influencer

4) G/R: Burden of to prove undue influence falls on the contestant of the will.

5) Lipper v. Weslow: The will leaves no money to the grandchildren of a deceased son but only to the son/lawyer and to the daughter.  There was evidence that the mother had reason and made clear that she did not want to give money to the grandchildren.

a) The contestant did not carry its burden to show the disposition was the result of the influence.

b) Other problems: Because of the unnatural disposition, the lawyer son should have gotten an independent lawyer for the mother; he did the will at the risk of losing his inheritance and facing sanctions.

B) Statement of reasons of the disinheritance: 

1) Memorialize in some other document than the will because it may invoke a contest because of the public nature of the will.  Do this when the reasons are not flattering to the one being disinherited.

2) Have the disinheritance in the testator’s own words, not written in legalize.

3) Specificity of the claims (because they were incorrect) and factual incorrectness weighed poorly on the mother’s state of mind.

C) Confidential relationship

1) This type of relationship gives rise to duties.  Lawyer/client, priest/ penitent and doctor /patient.

a) A family relationship alone does not give rise to a confidential relationship.

2) If the alleged influencer is in a confidential relationship with the testator and received under the will, most courts will presume undue influence and the influencer must prove that there was no influence.

a) Some states have rules where the attorney cannot draft a will where they receive under it.  This is the California rule unless the lawyer is a relative and gets independent review of the will.

3) Proof of independent legal advice will rebut the presumption.

a) Will of Moses: A woman leaves money to her 15 year younger boyfriend through a will drafted by another lawyer: independent legal advise.

i) The court held that the independent lawyer did not counsel the woman enough to get to the undue influence, the lawyer should have explored the client’s reasons for every bequest and counsel the client on the effects of every bequest.

ii) The court was probably bias because of the unnatural relationship, otherwise the intent would have been upheld.

D) Planning for a will contest

1) What to look for to anticipate a will contest

a) Execution and formality requirements

b) Unnatural divisions

c) Large estate

d) Health problems; weak minded

2) What to avoid

a) Persuade the testator not to disinherit the individual

b) Keep the testator involved in the decision making

c) More than average involvement with the lawyer

d) Un-independent advise

e) Haste with many large changes

3) Precautions

a) No-contest clause (State that if the person contests, they will lose $): contestant must have to give up something substantial

i) These clauses are not enforceable in all circumstances or in all jurisdictions.

b) Give the property to the person outright during life, not through the will, like through an inter-vivos trust.

i) Non-probate transfers do not require notice to the heirs.

c) Adoption of the adult to remove the standing of the other heirs.

d) Precautions with executions: (When actually executing the will)

i) The beneficiary should not be present during the execution.

ii) Put reasons for the unnatural distribution in the testator’s own words.

iii) Document the execution somehow.

e) Prepare for a contest long in advance of death: At the time you know of the disinheritance.

E) Seward Johnson case

1) Should have documented, at the time given, that there were large inter-vivos trusts given to the children.

2) Use a codicil to make changes instead of making an entirely new will.

a) If undue influence is found, only the codicil will be stricken, not the entire will.

3) Unethical behavior by the lawyer (Nina)

a) She acted as a personal confidant as well as over saw the everyday business and the will.

b) She named herself as the executor and the trustee, plus she increased the executor fee.

i) Lawyers cannot name themselves, the testator must name them.

ii) Counsel testators about alternatives to execution; The lawyer can say that they will do the execution but they cannot suggest that they will do it.

c) Typically there is no conflict with representing both spouses as long as information is not kept by one from another.

d) She did not explain how expensive executing the will would be.  Counsel the client.

e) Discuss with the client if there is anything about the lawyer’s relationship that might look improper.

f) Get the client to consent and that they have been counseled.

4) Wyoming: Cannot draft a will where you get a gift unless you are related.  Wyo rule of professional conduct 1.8.

IX) Fraud

A) Definition of Fraud: Fraud consists of (i) false statements of material facts, (ii) known to be false by the party making the statements (iii) made with the intention of deceiving the testator (iv) which actually deceive the testator, and (v) which causes the testator to act in reliance on such statements.

B) Ways

1) Fraud in the inducement: A person misrepresents facts with the intent to deceive and the intent to affect the will.

2) Fraud in the execution: Misrepresent the character or the contents of the will.

C) Remedies:

1) The whole or part of the will is invalid.

2) Different problem where the party does not allow the testator to change the will

a) Even though the will is already probated, the court can find that the devisee held the gift in a constructive trust for the natural devisees.
D) Latham v. Father Divine: Facts: The will of the decedent, Mary Sheldon Lyon, gave almost her whole estate to Father divine, leader of a religious cult, to corporate defendants, and to patience budd on of Father divine’s active followers.  
1) Court held that Ds hold the will in constructive trust

2) Constructive Trust: court in equity mode: by law the Ds got their money but in equity you should not have. Because you got it by law, only duty as trustee is to give money over.  

E) Standing: in order to challenge a will, you can’t just be anyone.  The challenger must be in line to get the estate.  If the will is invalidated you will have to be the next intestate heir.  If will is thrown out have to be someone that would take.

X) Formalities of a will

A) Purpose and functions of formalities

1) Ritualistic function: protect the testator’s intent

2) Evidentiary function

3) Protective function: safeguard the testator

B) WYO statutes

1) 2-6-104: The effect of the will is determined by the law of the state where the will was executed.

2) 2-6-112: A will is valid where it meets Wyoming’s standards, is valid in the state where it was executed, and the state where the person was domiciled.

C) Common statutory characteristics

1) The will must be in writing

a) There are exceptions in some states but they are very narrow

b) Whether the will is attested or holistic it must be in writing.

2) Wills must be signed by the testator

3) The will must be witnessed unless it was holistic

a) Witness’s must sign the will

b) There are differences in statutes regarding witnesses dealing with where it must be signed, when, and how many witnesses must sign.
4) UPC 2-502: 
a) In writing

b) Signed by the testator or in the testator’s name by some other individual in the testator’s conscious presence and by the testators direction; and

c) Signed by at least two individuals, each of whom signed with in a reasonable time after he or she witnessed with the signing of the will or as described in paragraph (2) or the testator’s acknowledgement of that signature or acknowledgement of the will.

D) Competency of witnesses: witness must be competent.  This generally means that at the time the will is executed the witness must be mature enough and of sufficient mental capacity to understand and appreciate the nature of the act he is witnessing and to be able to testify in court should this be necessary.

E) Both witnesses present: 

1) ¾ of states do not require that the witnesses be there at the same time.

2) In re Groffman: The wife challenges the will because she was only left a life estate.  The statute requires that the testator sign and his acknowledgment or signing must be witnessed by both of the witnesses at the same time.  Because both witnesses did not see the acknowledgement at the same time, the will was invalid.  The will was invalidated and then the estate passes through the intestacy statutes.

a) Purpose for the rule: want to make sure that the witnesses have a good idea of the testator’s state of mind at the time of the signing.

F) Presence requirement: Must the witnesses sign the will in the presence of the testator

1) Line of sight test: has to be witnessed in the presence of the testator.  The testator just has to be able to see the witnesses if they wanted to (testator can have his eyes shut, or can be blind).

2) Conscious presence test: Testator has to have some comprehension that the witness is doing the act of signing.  This is the more frequently used test.

3) UPC does not require that the witnesses sign in the presence of the testator.

4) WYO: Just says sign in the testator’s presence and there is no case defining what that is.

G) Order of singing and the signature requirement

1) The testator must sign before or at the time of the attestation: So the witnesses can say it was the testator’s signature.

2) If the testator signs with an X: It is valid if it is intended to be the testator’s signature and if the testator is too weak or cannot sign their name.

3) If the testator only signs their first name: OK if it is intended to be the testator’s signature.

4) The testator gets help with signing their name: Valid if the testator asked first for assistance before it was given; “under the testator’s express direction”

5) Illegible Signature: The same intent test.

H) Where the testator signs

1) At the bottom of the will above the witnesses.

2) Unattested additions below the signature are not valid and are not probated.

3) If there is handwriting added and is added before the signatures, the entire will may be invalidated.

I) Interested witnesses

1) DOES NOT INVALIDATE THE ENTIRE WILL.

2) May purge the gift given to the interested witness

a) UPC and 1/3 states: There is no effect on the gift.

b) Mass: The entire gift is purged.

c) Others: Some of the gift may be saved for some interested witnesses.

3) WYO: The gift is purged if there is not 2 disinterested witnesses unless the person would take if there is no will. (If the interested witness would take under intestacy.)

a) Some of the gift may be saved: can only receive that portion that they are entitled to under intestacy

b) The most the witness is entitled to receive is the amount under intestacy, but they cannot receive more than was devised under the will (the lesser of the two).

J) Interested witness disclaiming share: 

1) The witness’s property right only comes at the time of death so the disclaimer does not relate back to the time of the signing.

2) Parsons case (California): Two of the three witnesses were interested witnesses and one of those witnesses disclaimed her devise.  Court: because the witness was interested at the time of the signing, does not matter that the witness disclaimed her share.

a) The court wanted to advance the purpose of the disinterested requirement; protect the testator at the time of the execution.

b) New statute; If the will at issue were never established, would the witness have been a beneficiary under a old will;

i) Do not have to look at the intestacy statutes but look to see if there was an earlier will where the witness was a beneficiary.

ii) The witness will take the lesser amount in the two wills; policy; should not be able to profit from the interested witnessing.

K) Proving due execution

1) Proponents of the will must prove by;

a) Oral or written testimony of the witnesses

b) 2 witnesses who can attest that the signature of the testator and the signatures of the witnesses are valid.

c) Some other evidence.

2) Attestation clause

a) Creates a presumption of due execution

b) Contestant then has the burden of proving the will was not duly executed.

L) Self-proving will

1) Creates a conclusive presumption of due execution.  No one can contest the will because of execution

2) 2-6-114: WYO statute.

3) Two kinds

a) When the will is proved at the time of the execution of the will.

b) The will is self proved at some time after the execution of the will (2-6-114(c))

M) Substantial compliance doctrine (near miss)

1) If there is clear and convincing evidence that the decedent intended the document to be his will then the will is valid.

a) Clear and convincing evidence: below beyond a reasonable doubt but greater than a preponderance (closer to reasonable doubt).

b) This is a curative doctrine where the testator has substantially complied with the formality requirements.

2) Similar to the dispensing power doctrine: The court will probate the document notwithstanding the statutory requirements.

a) This is a broader doctrine because the formalities do not have to be so closely complied with as in the substantial compliance doctrine.
b) Dispensing power all you need is intent that was the last will and testament shown by clear and convincing evidence (Do not have to substantially comply with the formalities)

XI) Holographic wills

A) Definition: General

1) The will must be in the testator’s handwriting and signed by the testator

a) Does not require witnesses

b) Some states require that there be a complete date

c) In some states only part of the will must be in handwriting.  Wyo requires that the entire thing be in the handwriting.

2) ½ of the states allow these will including wyo

B) Where courts do not require that the entire will be in handwriting

1) Special glasses rule: The handwriting portion must show testamentary intent without any reference to any of the printed portion.  Animus testendi: Through the provisions showing testamentary intent

a) Court puts on special eye glasses that take out printed portion, screen out all typewritten stuff, so then the handwritten works taken together may have no context.
b) Estate of Johnson (P. 264): The will was written on a form will by filling in the blanks.  Was not a regular will because it was not witnessed.  Issue: does it qualify as a holographic will.  Ariz rule: The signature and the material provisions must be in the handwriting of the testator

i) This case: There is no language, in his own handwriting, which shows that he intended the writing to be a disposition of his estate at his death.

2) No special glasses rule: Later Ariz case: The court held that it could consider the printed words.

3) Neb and Cal still use the old rule (special glasses)

C) UPC 2-503 (p. 503)

1) This is not a special glasses rule: can get the testamentary intent from the printed words.

2) There needs to be clear and convincing evidence that the decedent intended it to be a will, does not need any witnesses.

D) Adherence to signature and intent requirements

1) Kimmels estate: Father sends a letter to his children that does not show explicit testamentary intent.  The court interprets the letter to be a valid HG will even though it is not exactly clear and it was only signed “father”

a) The court did not look at extrinsic evidence but some courts do.

b) Consider who takes under the will: is it a natural disposition of the property.

E) Conditional language

1) Where the person writes in the will on the eve of the surgery “if any thing happens to me, …”

2) The courts hold that this is just a reason for the writing of the will at that time, and it is a valid HG will.

3) Charles Karalt HG will: the court looked at extrinsic evidence to determine the true testator intent

a) Intent: The testator intends that to be their will.

F) Doctrine of surplussage

1) If you can prove that the printed matter on the will was not intended to be part of the will, it will be probated.

a) For example: When the will is written on a piece of paper that includes incidental printed matter (Bar napkin)

XII) Revocation of wills

A) General

1) A will is an ambulatory document: It can be modified or revoked in the testator’s lifetime in usually one of two ways:

a) By a subsequent writing that is a will

b) By a physical act that destroys the will, “With the intent to revoke”

2) Cannot revoke a will orally in any jurisdiction

3) A subsequent will revokes the provisions of a previous will if the inconsistencies show that the testator’s intent was to replace the provisions of the previous will:

a) A supplement is a codicil

b) A revocation is a replacement.

4) The destruction of the codicil does not destroy the will.  But the revocation of the will destroys the codicil.

B) Revocation by destruction and presumptions

1) In order for the revocation by destruction to be valid the destruction must be done in the presence of the testator. 

2) If the will is in the testator’s possession in life, but not found at death, there is a presumption that the testator destroyed the will.

a) Thee is a following presumption that the testator destroyed the will with the intent to revoke.

3) The devisee must offer evidence to rebut the presumption of revocation

a) The evidence will have to be affirmative enough to show that the testator never intended to revoke the will.

4) Harrison v. Baird: The testator left the original with the lawyer and left the duplicate original with the devisee.  The duplicate original must be signed by the testator and witnesses, not just photocopied.  The testator called the lawyer and told him to destroy the will.  The destruction was not done in the testator’s presence in this case so the devisee offered the duplicate original to probate.

C) Duplicate wills

1) The testator keeps one will at home and the other one somewhere else

a) At the testator’s death, the will in his possession cannot be found.

b) Both duplicates are actually in the testator’s possession so no presumption is raised (According to one court)

c) Now the testator’s intestate heirs have the burden of showing the intent to destroy.

D) Probate of lost wills: When the will is destroyed but not revoked, how to probate the will

1) Can be admitted into probate if you can prove what original said: Copies of the will, either original duplicates or photocopies, or other clear and convincing evidence (Sometimes testimony will work)

2) Wyo: 2-6-207 

a) The burden is on the proponent of the loss to show that the will was in existence at the time of the testator’s life (This is hard to do), or that it was fraudulently destroyed, and its provisions must be proven by at least 2 credible witnesses.

b) This statute guts the revocation statute

c) Existence means legally in existence, not just physically.

d) Problem with fraudulently: Wills that are destroyed improperly or accidentally

E) Invalid revocation  (Depends on the statute of the state)

1) A will must be revoked as prescribed by statute either by (i) some writing declaring an intention to revoke and executed in the same manner a will, or by (ii) cutting, tearing, burning obliterating, canceling, or destroying the same with the intent to revoke.

2) Revocation by a subsequent writing must comply with the formalities required by a will (Attestation) 

3) An adequate physical destruction must physically touch the words of the will: The words “cancelled “ in the margin are not enough.

4) Thompson v. Royall: The testator wants her will destroyed.  The judge recommends not to destroy the will (keep as a reference) but simply attach a notation that the will is revoked.  This is not effective revocation as a subsequent writing because it was not done with the formalities required by a will.

a) It was not attested, and was not completely in her own handwriting.

F) Partial revocation

1) 2-6-117: Allows partial revocation (Some states do no allow partial revocation)

a) Partly revoke: focus on the intent of the testator

b) If the will is found in the possession of the testator

c) Lining through a provision in a holographic will is not a partial revocation but a revision of the will

i) This is the same result in states that do not allow partial revocation (Because it is not a revocation at all)

G) Dependant relative revocation (DRR)

1) General: If a testator revokes a will based upon a mistaken assumption of law or fact, the revocation is ineffective if the testator would not have revoked his will had he known the truth (Doctrine of presumed intention).

2) Analysis 

a) Valid revocation (Revocation in a second will, where the second will was invalid, is not a valid revocation)

b) Mistake of fact or law

c) Presumption that testator would not have revoked but for the mistake.

3) Example

a) Revoke will #1 by destruction and the second will is invalid

b) There was a valid revocation and a mistake of law because the second was not properly witnessed

i) At this point, there is a presumption that will #1 would not have been revoked but for the mistake.

c) The intestate heirs then bear the burden to show that the testator would rather have the intestate heirs get the estate rather than the devisees in the first will

i) Will #1: to friends bob and sue

ii) Will #2: to friends bill and sal

iii) Intestacy: Aunt Bee

d) The court will only look at limited extrinsic evidence

i) Because bob and sue were in the will, and aunt bee never was, the presumption is not rebutted.

ii) Basic question: Would the testator rather the parties under the first will take, or the intestacy heirs.

4) Possible improper application: Carter v. First Methodist

a) Mildred executes a will in 1963.  She made some modification with a pencil (Total revocation).  She also folded inside this document a handwritten instrument purporting to be her will but it was not signed

b) The court, under DRR, brings the 1963 will back to life: Steps:

i) There was a valid revocation of the 1963 will (Markings through the provisions)

ii) Mistake of fact or law: The court says the revocation was conditioned on the new will but there was no evidence that she intended the 2d writing to be a will so there was no mistake.

iii) The lower court felt that there was no revocation because of the lack on intent to revoke.

c) There was also no information in the case about who would take under either will or intestacy (There were no facts to rebut the presumption)

5) Problems p. 290

a) I bequeath the sum of $1000 to my nephew Charles Blake (crossed out $1000 and replaced with $1500): Not a holographic will because the typewritten portion is the part that provides testamentary intent and there was only an initial

i) In a jurisdiction that does not permit partial revocation: revert to the initial amount.

ii) In a jurisdiction that does allow partial revocation; there was an intent to revoke so Charlie gets nothing.

iii) DRR: Valid revocation, mistake because this is not a holographic will so there is a presumption that the provision would not have been revoked but for the mistake.  The testator probably would have revived the revoked provision rather than use intestacy.

iv) 1(d): This is a harder case: Have to show that the testator would rather give the person the larger amount rather than nothing.

b) State recognizing partial revocation: the revocation is valid because the testator intended to revoke.  There is a mistake because he thought the modification would be valid.  There is a presumption so determine if the $ should go to john or intestacy (All is known is that the testator did not want the money to go to john)

c) Prob 1 p. 291:

i) There was a valid revocation but there was no mistake so you cannot use DRR.

d) Prob 2 p. 292

i) Execution of the codicil was a valid revocation

ii) The mistake was that judy was dead (Mistake of fact)

iii) This is a perfect case for DRR

iv) Second example, where the testator said that he already gave the $; this is not susceptible to DRR because the mistake is not readily provable.

H) Doctrine of revival (p.297)

1) Some jurisdiction will allow the revival of will #1 where the facts and the circumstances show that the testator intended the first will to be revived (Wyo adopted doctrine through case law)  The presumption is for revocation, have to show intent for revival.

2) The minority of jurisdictions say that a revoked will is not revivable unless it is re-executed.

3) Estate of Alburn: The testator devises a will and later executes another revoking the first will and then later revokes the second will by destruction.  Upon destruction, there is evidence that she intended the first will to be revived.

a) The first will is validly revoked and the second will is validly revoked.

b) The state by statute does not recognize revival so the court uses DRR to give effect to the second will: the testator was under the mistake that the first will would be revived.

c) Because the two wills were similar and neither was close to intestacy, DDR was appropriate.

4) UPC: Revival §2-509 (3 parts)

a) Will #2 entirely revokes will #1.  The previous will is revived upon the revocation of the second will if the circumstances show there was an intent to revive (The presumption is against revival)

b) (b) if a subsequent will that partly revoked the previous will is itself revoked, the presumption is that the previous will is revived unless it is evidence from the circumstances of the revocation of the subsequent will or from the testator’s contemporary or subsequent declarations that the testator did no intend the revoked part to take effect as executed.  
c) Will #1 is revoked by will #2 which is revoked by will #3.  The terms of the later will have to revive the earlier will.

i) Prob 2 p. 298: Because there was no intent to revive the 1995 will so the intestate heirs will take.

I) Revocation by operation of law

1) Divorce: statutes provide revocation of any provision providing for the spouse upon divorce unless the will says otherwise

a) Wyo 2-6-118

b) Some statutes require that there be a property settlement.

c) UPC applies to non-probate transfers also: the wyo statute does not

d) Problem 1 p. 299: The UPC revokes all shares to ex-spouse heirs.  In WYO the son gets the property because the spouse is treated a pre-deceased so the stepson gets it.

2) Marriage after the execution of the will: many jurisdictions say that the new spouse can claim an intestate share even if they are not in the will

a) WYO does not have one of these

b) The only exception to these statutes is if there is an intent that the person did not want to leave the $ to the future spouse.

3) The birth of children after the execution of the will: Much the same as the above statutes

a) WYO does not have

XIII) Components of a will

A) What things are given testamentary effect to determine who gets the property.

B) Republication by codicil: Even though document was not in existence at the time of execution, codicil republishes the will and changes the effective date of the will

1) Can bring in documents that were not in existence at the time of the execution

2) The entire will is republished with those witnesses to the codicil: They become the witness to the entire will

3) The codicil must be a properly executed will

4) Benefits of republication (This is on the exam)

a) Codicil to the first will can squeeze out the second will

b) If at the time of the will the testator lacks the capacity to make a will, but later at the time of the codicil the testator has the capacity, the entire will becomes effective.

c) Republication because of the codicil can take care of any interested witness problem.

C) Doctrine of Integration: (1) all papers present at the time (Physically present) the will was executed and (2) intended by the testator to be part of the will are integrated into the will 

1) Fastened together (By a staple) helps to show the intent: physical attachment and physical intention viewed as integrated even if after the signature page
2) Papers have to be present to be integrated

3) Can also show the intent by having the testator initial every page, numbering every page and having sentences flow over to other pages.

D) Incorporation by reference

1) Document has to be in existence at the time of the execution of the will (The testator cannot change it after the execution of the will)

2) The will has to refer to the document sufficiently.

3) The will has to show intent that the document be incorporated.

4) UPC § 510: Any writing in existence when a will is executed may be incorporated by reference if the language of the will manifests this intent and describes the writing sufficiently to permit its identification.  

5) There is not a statute in WYO but adopted judicially

6) A holographic will cannot incorporate by reference typewritten material that is on the same side of the sheet of paper (Usually has to be on a separate sheet of paper).

7) UPC 2-513: A will may refer to a separate writing identifying a bequest of tangible property not otherwise disposed of by the will, other than money: The writing must be signed by the testator and must descried the devisees and the items with reasonable certainty.  It may be prepared before or after execution, and it may be altered.

E) Clarke v. Greenhagle (p. 303)

1) Helen’s will provides that some of her personal property will be devised by her wishes listed in a memorandum by her cousin.  None of the memo’s mention a painting.  She started a notebook in 1979 (After the execution of the will) disposing of property, including the painting.  Notation about the painting in the notebook in 1980.  In Oct of 1980 she executes a codicil to the will.  The cousin executor did not give up the painting but did give himself things that were listed in the notebook. The notebook was not integrated because it was not there at the time of the execution.  Even though the notebook was not in existence at the time of execution, the 1980 codicil republishes the will and changes the effective date

2) Incorporation by reference in this case

a) The word memorandum identifies any document with testamentary intent.

b) It was in existence at the time of the last codicil so effect is given to the notation. (Although there were no findings as to when the statement about the painting was entered into the notebook).  The testator cannot, however, change the memo after the execution of the codicil.

F) Johnson v. Johnson

1) The paper introduced as the will is typewritten with no date and no signature.  Beneath the typewritten statement the testator writes a provision in his own handwriting which is signed and dated.

2) Rule of republication by codicil

a) A Validly executed will is treated as re-executed as of the date of the codicil (It has to be validly executed)

3) The court says that an invalid will is a will nonetheless

a) No: has to be properly executed and entitled to probate as a will.  Only a valid will can be republished by codicil.

b) Only a few states hold that an invalid will can be republished by codicil, but only when they are invalid for capacity and the like.

4) Integration, republication by codicil, and substantial compliance do not work.  The dispensing power may work because there is clear testator’s intent.

a) The incorporation by reference may work: If the typewritten portion was in existence at the time of the execution and the handwritten portion is a will itself.  The typewritten portion may not have been sufficiently identified and the will may not have manifested an intent to incorporate.

b) A holographic will cannot incorporate by reference typewritten material that is on the same side of the sheet of paper (Usually has to be on a separate sheet of paper).

G) Acts of independent significance

1) If the act was not done to alter the testamentary gift, but has an independent significance, the act does not invalidate the gift.

a) Not considered a changing of the will but an altering for different reasons.

b) Does the act have testamentary intent.

2) The will says that the person gets the painting over the fireplace. The painting was changed before the person’s death.

a) Did the person have testamentary intent in doing the act.

b) Focus on the purpose of the changing: if the person was just redecorating then the gift is still valid (Independent significance).  If it was moved because the beneficiary liked the new painting better then the gift has no effect because it was a changing of the will.

3) The will says that the person gets what is in the safe deposit box: The courts say that this is OK because it is an independent act of safekeeping.

4) The will says that the person gets what is in the upper left hand drawer: Focus on what is in the drawer: if it is something that is normally in the drawer then the gift is valid.

a) Did the testator put it in there because she wanted the beneficiary to have it or does the item belong in that place.

H) Contracts relating to wills

1) Contract: For care taking

a) The person agrees to serve another if that person puts them in their will.

b) It must be in writing.

c) If the will is not made, the person can sue for specific performance.  If the contract is not in writing, the person can still sue for the value of their services.

d) Breach on K does not revoke a will.  A will has to be revoked by methods prescribed by statute.  The heirs could sue for breach of K. (Problems P. 230)

e) If the person was already supposed to care for the testator then they cannot contract for payment of the service (Pre-existing duty rule: this may apply to a spouse)

2) When spouses contract not to revoke a will if the other dies. (This happens with joint and mutual wills)

a) This is a problem with joint wills: They are executed by two people and both of the people sign the will.  The party who survives may promise not to change the will.

b) Many courts assume there was a K not to revoke if the will is joint or mutual (This is incorrect reasoning)

c) The UPC tries to fix this problem by 2-514 

3) Will beneficiaries rights when under a K not to revoke, and the will is revoked 

a) Majority rule: The K beneficiaries under the will become third party creditors and take their portion under the will.

b) Minority rule: public policy for providing for a spouse is more important than the policy behind the K (Following dead spouses intent)

i) Society values marriage and we do not want to provide disincentives to marriage.

ii) Do not want the dead spouse to dictate the actions of the living spouse.

iii) The beneficiaries only have a limited right if the living spouse does not marry.

c) Via v. Putnam : Spouses enter into a K not to revoke.  One spouse dies and the other spouse remarries.  The husband dies and the new spouse wants something. The TC gave the children status as third party creditors as beneficiaries under the original will and therefore the children would get it all and the spouse would get nothing.  The AC followed the minority rule.

4) Repercussions of contracting not to revoke

a) The person who is left has a life estate with the right to consume reasonably; no extravagant spending.

b) This also covers property that is accumulated after the other spouse dies.

c) Spending is limited to good faith consumption that does not defeat the purpose of the will.

d) If the survivor changes the will, the K beneficiaries will have to pursue the remedy under K (Sue for specific performance)

XIV) Will substitutes: Non-probate

A) Trusts: A devise a gift giver uses where they want to give to a beneficiary but the gift is to be managed by someone else. (The settlor gives one million to the trustee to pay the income to B for life and upon B’s death, pay the principal to B2.)

1) Trusts are subject to the rule against perpetuities because this is a future interest; unless it is a charitable trust.

2) Private express trust: From a private person given to another person.  Different from a trust by operation of law like a constructive trust or resulting trust.

a) Constructive trust: arises by operation of law; not expressly created, implied by circumstances, imposed to prevent unjust enrichment (fraud, duress, murder).  The trustee’s only duty is to convey property to appropriate holder

b) Resulting trust:  This happens by operation of law if the express trust fails: give the money back to where it came from.

B) 3 requirements for the creation of a trust

1) Intent to make the trust on the part of the settlor: (Hold this property for the benefit of another)

2) Trust property: Existing property to put in the property box

3) Beneficiary (Must be a person)

C) 3 types of parties

1) Settlor: this is the person giving the gift

2) Trustee: this is the party that is managing the property

3) Beneficiary: This is the party who gets the gift

D) Trust provisions

1) Dispositive provisions: Provisions about the distribution of the property

2) Administrative provisions: These express what the trustee has to do under the trust (Trustee’s duties).

E) When the settlor can create

1) During life (Inter vivos)

a) Declaration of trust: State “I hold this property in trust for you.” The person giving the gift is both the settlor and the trustee.  Declaration of intent to hold the property for someone else.  The only limit is that the trustee cannot be the sole beneficiary: There has to someone to complain if the trustee is not doing his or her job.

i) Prob p. 559: O is the settlor and the trustee, A is one beneficiary and O is also.  Transfer of the trust does not have to be delivered, only intent to make a trust (Title does not change).  The transfer has to be made when someone else is the trustee.  Proper delivery is the actual property or a deed of trust.

b) Deed of trust: settlor creates trust with another person as trustee.  The settlor then must transfer title through a deed of trust which is any written document that transfers property (must either deliver the actual property to trustee or put trust in writing to validate this trust.  
i) Prob p. 561: the trust was created, breach of the trust; A and B can get $ from D and E.  They can also go after X if he is clearly the trustee.  Question is did X actually accept the position as trustee (He did take the $ leading O to believe that he would be the trustee).

2) Testamentary trust created in a will

3) Inter vivos trust where the will leaves property to an already established trust: pour-over will.

4) The trust will never fail for a lack of trustee because the court can appoint one.  Courts usually require that the trustee affirmatively accept the position.

F) Duty of trustee

1) Fiduciary to the beneficiary: act only in the interest of the beneficiary.  Must also use the property in the trust productively. 
2) Keep the property separate and account for trust property.

3) If beneficiary demands an accounting then he should be able to give it to beneficiary, if no accounting then trustee has to cough up money 
4) The trustee has to have some duties even if they are just minor.

G) Beneficiaries

1) These are usually set up through a series of future interests.

2) The creditors of the beneficiaries can reach the trust except for some exceptions.

3) The trustee may be liable to the beneficiary for improper disposal of the trust.

4) If the trustee disposes of the trust to a bona fide purchaser for value, the beneficiary cannot get the trust property back.  Can get the proceeds from the trust but if they are gone recover from the trustee himself.

H) Intent to create a trust: the settlor’s state of mind

1) The trust does not need magic words, just the transfer of property from one person to another to manage for the benefit of another.

2) Jimeniz v. lee: the P’s grandmother gave her father $ for P’s educational needs.  The father treated it as his own money.

a) The father tried to convert the $ to a uniform gift to minors where the discretion of the trustee is greater.  The court said that the trust was for education.

b) The father attempts to provide an accounting through cancelled checks which included more than educational needs.  The court said that there needs to be more than an informal accounting.

3) Precatory language: Language in a bequest that states a preferred disposition of the property creating only a moral obligation and not a legal one.

a) The language has to be stronger to create a trust, not merely stating the preferences of the settlor.

b) Distinguish between mere precatory language and the intent to create a trust.

4) Gift v. Trust

a) Elements of a gift:
i) Donative intent

ii) Delivery as perfect as the nature of gift will allow (Actual, Symbolic, Constructive)

iii) Acceptance (Presumed)

b) If the intent to give a gift is clear then delivery need not be so clear.

c) Hebrew univ v. Nye: There was intent to give the books to the univ but the books were never delivered and there was never intent to create a trust.  TC: Said that there was a declaration of trust: therefore you do not have to have delivery.  The AC said that she did not have the intent to be a trustee, and that she was trying to make a gift and that delivery was missing.

i) Second case: The univ makes the argument for a completed gift: Donative intent, delivery (symbolic), and acceptance.  Because the manual delivery was difficult in this case, symbolic delivery (Through the delivery of a list of the books) was enough.
ii) Courts tend to be more favorable to charitable causes, courts may be willing to forgive problem of delivery

I) Necessity of trust property
1) Any recognizable property can go into the trust: the property right must be in existence at the time of making the trust.

2) There must be property in the trust at the time of its creation

a) Unthank v. Rippstein: The testator wrote a letter purporting to bind his estate to give the person 200/month.  The testator was the settlor and also the trustee.  This could have qualified as a HG will because there was intent and it was in his handwriting.  But the court said that there was no intent.  Next the P argues that there was a declaratory trust but the estate was not put into the trust.  No assets were separated out so there was not trust property.

i) Another court may have been able to find a declaratory trust.

3) The trust was not funded prior to the settlor’s death so there was no trust.  Checks themselves are not property. Prob 2 p 583

4) Future profits do not qualify as present property

a) Brainard v. Commissioner (586): Declares a trust of his stock trading for the next year for the benefit of his wife and kids in order to save on taxes.  The future profits of the stock are what he declared to be the trust property.  This property did not exist at the time of making the trust.

i) It would have worked if he would have made the stock itself the trust property instead of the profits from the stock.

ii) The only time the declaration of trust has to be in writing is when the transaction comes under the statute of frauds.

5) License as a property interest

a) Speelman v. Pascal: Pascal gives a letter to Mrs. Speelman where he purports to give her participation in his share of the profits of the Pygmalion play. The profits from the play had not happened yet.  But, Pascal already had a license to share the profits (This is a property interest) and this is what he gave her.  (A license is a property right and he put a piece of that license in the box).

b) The letter was symbolic delivery.

6) Problems p. 593

a) No such thing as an oral delivery

b) Stocks can be trust property

c) Declaration of trust here is in writing but there is not property in the box so it is an ineffective trust.

d) License is property so this is a valid trust.

J) Necessity of trust beneficiaries
1) The trust must have beneficiaries that can be identified so that they can enforce the trust.

a) Have to be able to delineate beneficiaries at the time the trust is created.

b) Beneficiaries can be delineated even if they are not yet ascertainable (Unborn grandchildren)

c) Settlor cannot be the sole beneficiary

2) Beneficiaries have to be delineable (Identifiable)

a) Can be UNBORN: a guardian will be appointed to represent interests of the unborn beneficiaries.  Beneficiaries are delineated enough, grandchildren will be ascertained.

b) Designation by class: broad classes of beneficiaries like “family” or “nephews and nieces” can be determined as ascertainable through the state intestacy statutes.  There is no statute for friends.

c)  Clark v. Campbell: Left the trust to friends to be distributed as the trustee sees fit and the family challenged.  There was no way to ascertain who has standing to enforce the trust.

i) The court said that this is not a gift because there was clear intent to create a trust.

ii) The court here imposes a resulting trust: transfer of the property to the residuary devisees.

d) Power of appointment: give the power to someone else to distribute your property.  This is the power to choose.  But the trustees have a duty to distribute the property, there is no discretion about whether to distribute or not (The duty is implied from the word trustee)

3) Pets as beneficiaries 

a) Trusts for the care and maintenance of animals: Can give to an organization as a charitable trust.  Giving to an individual animal is a private trust (The dog cannot enforce the trust in court so it is not a valid trust: no beneficiary)  

b) The courts can still give effect as an honorary trust: Binds the conscious of the trustee: the trustee is on their honor.  (1) The trustee must accept the honor and (2) The trust cannot violate the rule against perpetuities (A life in being plus 21 years).  

i) Many of these honorary trusts fail because animals cannot be a measuring life.  The trust itself must have a limiting feature.

c) Searights estate: The settlor’s dog is left to a friend.  $ is left in an account to care for the dog.  The state tax office wants to tax the $ by saying that it is not a trust.

i) The trust is valid in this case because the $ would be exhausted within 4 years (Less than 21 years).  Look at the time the trust was created to apply the rule, it does not matter what actually happens (like there is no way that the dog will die over 21 years from now)

K) Necessity of a written instrument
1) Need for a writing for inter vivos trusts when they are dealing with land (Statute of frauds), and for a testamentary trust.

a) The courts can get around these requirements with the use of a constructive trust.

2) Land cases: ways courts can deal with the property if there is not a writing:

a) Must be in writing so the trustee gets to keep the land (SOF will prevent oral proof from coming in)

b) Constructive trust to avoid undue enrichment.  The trustee would have to give the property back to the settlor or the intended beneficiary.

i) Imposed when fraud or duress is used, when there is a confidential relationship, or when it is made in anticipation of death.  The court will let oral proof come in.

3) Imposition of constructive trust when there is a confidential relationship: 

a) Heible v. Heible: The mother transferred the title to her son and daughter as joint tenants upon an oral agreement that they would convey the property beck to her if she recovered from cancer. The mother wants the property back so she sues.

i) Confidential relationship: simple family relationship is not enough but the mother was sick and fearing death of which the son tool advantage.

b) Once the confidential relationship is shown, the party denying the existence of the trust has the burden to show that the trust did not exist, here the son did not meet the burden.

c) Fraudulent intent is not needed, just unjust enrichment.

4) If the person making the trust has unclean hands, the court will not enforce the trust in their favor in these circumstances.

5) Testamentary trust: this trust must be in writing because the will must be in writing.  Problem when the trust is created but the disposition of the trust is controlled by an oral promise.

a) Olliffe v. Wells: the testator creates the trust through their will but the beneficiaries are missing.  This is a semi-secret trust so it fails.

b) Secret trust: nothing in will evidencing intent to create a trust. The language appears to be an absolute gift.   Courts admit evidence of the oral promise to make a trust for the purpose of not unjustly enriching the trustee.

c) Semi-secret trust: either the language creating the trust or the beneficiaries are missing (but one is there).  It is not necessary to admit evidence because the trustee will not be unjustly enriched (The trust will fail: resulting trust)

	
	Secret trust
	Semi-secret trust

	Will provision
	Absolute “gift” to the trustee
	Gift is in trust but the terms are omitted

	Oral promise
	Will hold in trust for the beneficiary
	Key terms (Beneficiaries)



	Result if it is left as is
	The trustee take = unjust enrichment
	The trust fails

	Usual remedy
	Constructive trust
	Resulting trust (Turn over to the heirs: next takers)

	Who takes 
	Intended beneficiaries
	Residuary beneficiaries




d) The key is will the trustee get to keep the money (If the trustee would get to keep the $ then it is a resulting trust) The court will not hear evidence of the trust because the trustee will not be benefited anyway: because the missing requirement of the trust goes to the residuary devisees (Do not know who the beneficiaries are)

e) The court will hear evidence in the case of a secret trust to avoid unjustly enriching the trustee: otherwise the trustee could take the $ as their own.  Then the $ goes to the intended beneficiaries.

L) Discretionary trusts and mandatory trusts

1) Mandatory trusts: the trustee must distribute all of the income.  There is no discretion on the part of the trustee.

2) Discretionary trust: the trustee has discretion over the payment of either the income or the principal or both

a) There is limitless variety

b) Spray trust: the trustee can give the $ to whichever beneficiary they want.

c) With discretion may come the extra duties of investigation

d) The trustee still has the duty to act reasonably and in good faith.

3) Spendthrift trust: keep the children or the beneficiaries alive in the way that they are accustomed without allowing the beneficiary to waste the $

a) State in the trust “the beneficiary may not alienate her income interest (Sell it) nor may it be reached by creditors.”

4) Support trust: The trustee has the discretion to pay for certain expenses like medical or education.

5) Trustees duties and the discretionary trust:

a) A trustee’s ability to exercise discretion is not absolute.  The trustee’s action must not only be in god faith, but must be to some extent reasonable (More elasticity in the concept of reasonableness the more discretion that is given to the trustee)

b) Marsman v. Nasca: The wife left the trust to the husband giving him the income from the trust and giving the trustee the discretion to pay the principal for reasonable maintenance.  The husband needed the principal but the trustee did not make it available that easily.

i) Because the husband had no money, he sold the house to the stepdaughter retaining a life estate.  The husband dies and his new wife is evicted.  She sues the trustee and the stepchildren.

ii) The trustee breached his duty to the husband because he failed to investigate the husband’s financial situation and then pay out the principal.  

iii) The trustee was not personally liable because of the exculpatory clause: the court found that the trustee did not abuse his fiduciary relationship at the time of drawing her will.

iv) Problems p 627: The house would not be a part of the elective share because her husband did not own it.

6) Trustee duties to the remainderman:

a) The trustee owes duties to the party with the remainderman also.  Trustees are often conservative to protect themselves; The income beneficiary could always get a court order to enforce the obligations under the trust (This would cover the trustees butt)  Why are trustees conservative:

i) They want to save the principal for a potential large outlay for circumstances that are unforeseen

ii) The fee is based on the size of the corpus: larger corpus equals a larger fee

M) Creditor’s rights

1) Mandatory trusts can be transferred just like any other property right.  If the property right can be alienated, then the creditors can freely reach the corpus.

2) Creditors cannot reach a discretionary trust (It is not certain who will receive the $ so it is not alienable).  Once it is paid out to the beneficiary, then the creditors can attach.

a) However, the remainderman’s interest can be reached because it is certain.

3) Support trust exception: Those creditors who provide the services that the trust was set up to pay are typically able to reach the trust.

4) Spendthrift trust: Not reachable by creditors because the language of the trust does not allow the beneficiary to alienate the trust (This is called a disabling restraint).

5) Other Exceptions to the rule that creditors cannot reach

a) Child support, alimony, tax claims.

b) Some states: those who provide necessary services.

c) It is not settled whether tort creditors can reach a trust.

d) You cannot set up a spendthrift trust for yourself.

XV) Charitable trusts

A) General: Differences from private trusts:

1) Charitable trusts are not subject to the rule against perpetuities.

2) Beneficiaries cannot be ascertainable, they must be very general (Set them up to benefit the public)

3) There is the ability to modify these trusts

B) Modification of trusts

1) Charitable trusts: The doctrine of cy pres: If the operation of the trust becomes impracticable or impossible, the courts may modify the trust.

2) Private trust: If the right to modify is not retained by the settlor, or the settlor is dead, it is very difficult to modify these trusts.  Sometimes the court will allow modification of the administration of the trust (Like how to invest if there are unforeseen circumstances)

C) Termination of trusts

1) Private trusts: Termination is subject to the settlor retaining the right to terminate.  If the right is not retained then it is difficult to terminate the private trust.  The settlor and all of the beneficiaries must get together and agree to terminate the trust.  Once the settlor is dead, it is even more difficult because generally beneficiaries cannot terminate the trust.  Some states have statutes that allow beneficiaries to terminate the trust in extreme circumstances.

2) Charitable trust: These are modifiable through cy pres.  The trust terminates if the subject of the trust no longer exists (Like a trust for polio)

D) Beneficiaries of a charitable trust

1) If the beneficiaries are too specific, then the trust fails for not benefiting the public.

2) The trust could still operate as a private trust if all of the elements are present.

3) When the charitable trust looks like it favors specific beneficiaries

a) An identifiable larger class like bombing victims; it is still public because it is still a large class.

b) Recipients of scholarships: These are chosen from a large class based on a charitable purpose.

c) Trusts that are set up in a series of people: like the dean of the law school, the person changes in time, it is a charitable purpose.

E) Characteristics of what makes a charitable trust

1) A public benefit type of purpose.  

a) Look at who the beneficiaries are (Are they the public in general or easily identifiable individuals)

b) Charitable purposes include:

i) The relief of proverty

ii) The advancement of education

iii) The advancement of religion

iv) The promotion of health

v) Governmental and municipal purposes

vi) Other purposes the accomplishment of which I s beneficial to the community.

c) Does the trust give a gift to be nice (benevolent) instead of being charitable to help a public purpose (These are not charitable trusts)

d) A general description of the beneficiaries is adequate: the trustees can then determine who it is (The poor)

e) Just because the trust is not charitable does not defeat the trust.  It could be a private trust if the elements are present (But then they are subject to RAP, specific beneficiaries and are not modifiable.)

F) Nature of charitable purposes (Taylor case)

1) Henry left a trust where twice each year the profits were to be given to elementary school children for the: furtherance of their education.”  He probably just meant for the kids to blow the $ on fun stuff.

2) Because the trust lasted into perpetuity, if it is not a charitable trust it will fail.

3) Charitable purpose: the will said “educational”.  The testators dominant intent must be for a charitable purpose

a) The court held that the testator never intended the $ to be used for education but it was only intended as a gift (Benevolent)

b) The court maybe should not have gone outside the plain meaning of the will or the intent stated.

G) Doctrine of cy pres: This is the equitable power of the court to vary the dispositive terms of the trust to avoid its failure.

1)  The doctrine applies when the original purpose of the trust becomes impossible or impracticable, and

2) The testator had a broader charitable intent behind the original stated purpose.

3) This doctrine does not apply to private trusts.

4) The courts are very picky about whether the original purpose is impossible or impracticable, they do not want people to be able to manipulate the trust.

5) The court are quicker to find a more general intent (This element is almost a presumption)

a) Ex: The broader intent to a trust to a medical school is for higher education.

b) There would have to be evidence that the settlor did not want the trust to go to a different school if the med school where to close.

6) Neher: The settlor devised her home to the village to be used as a hospital.  Because a hospital opened in the next town, and there was little funding for a hospital, the trustee town wanted to use the building for administrative purposes.

a) The trust purpose was sufficiently impracticable according to the court.

b) The court also finds that the broader intent was to benefit the community so the administration hall was OK.

XVI) Construction of wills

A) Admission of extrinsic evidence

1) Construction: this is the phase of the will proceeding where the will is interpreted.  The will has already been determined to be valid.

2) Extrinsic evidence is anything outside the four corners of the will.  The question is whether the court will go outside the four corners of the will.

3) The plain meaning rule (tool): the way the courts get around this rule is to use other tools.

4) Plain meaning: The court has to interpret the will from only within the four corners of the document.  Never look to extrinsic evidence.

a) Rational behind the plain meaning rule (Big tool rule)

i) Wills are a formal document so we do not want to introduce informality.

ii) Wyoming has approved this rule.

5) Exceptions to the plain meaning rule

a) Personal usage: if the testator always referred to a person in an idiosyncratic manner, extrinsic evidence is admissible.

b) Latent ambiguity

c) Modern trend

d) Correcting mistakes: Misdescritpion 

e) Patent ambiguity: Not really an exception because the devise would fail.

6) Latent ambiguity: Identification phase

a) Ambiguity created after trying to identify people and property is called latent ambiguity: the ambiguity appears when the terms of the will are applied to the property or designated beneficiaries.  The outside world created the ambiguity so there is a need for extrinsic evidence to resolve the ambiguity.

b) Always have to go outside the four corners of the will the beneficiaries and the property that is left in the will.  When identifying people and property it may give rise to ambiguities in the will (Ie: 2 people with the same name)

c) Example to the latent ambiguity rule

i) Note 2 p. 412: the court applied the plain meaning because they found the company with the proper name but this case would have been proper for latent ambiguity.  (Have the court look at the entire devise and then argue for the ambiguity).  Use the tool by persuading the court.

7) Patent ambiguity: an ambiguity that appears on the face of the will.

a) If something is so ambiguous that the court cannot figure it out, the court will throw it out as void.  Evidence is not admissible to clarify the ambiguity.

b) The court could however simply construe the will without the aid of the extrinsic evidence.  Just fill in the blanks. 

8) Application of the plain meaning rule

a) Mahoney v. Grainger: The testator wanted the property to go to his cousins.  The attorney drafted the will to only to go to her heirs at law (An aunt).  The court refused to look at extrinsic evidence because the “heirs at law” provision was not ambiguous.

b) The court could probably have used latent ambiguity because the actual provision actually said heirs when there was only one.

c) Another possibility to challenge the testamentary intent; the testator never intended the property to go to the aunt so there was no testamentary intent (But then the property would have gone to the aunt anyway under intestacy)

9) Admission of extrinsic evidence for testamentary intent

a) Fleming v. Morrison: The testator told one witness of the will that it was a fake and he had only made the will to get sex from the beneficiary.

b) They excluded the witness because there was no intent on the part of the testator when the witness signed the will.  

c) Even though the will was not ambiguous, the court admitted evidence based on lack of testamentary intent, not to clarify a provision of the will.

10)  Modern trend of will construction

a) Modern trend: All extrinsic evidence is admissible to determine if the testator’s use of the words is ambiguous.  The court must determine the plain meaning in light of the evidence available.  Even under the modern rule the court may revert back to the plain meaning.

b) Estate of Russell: The testator left a HG will leaving her property to Quinn and her dog Roxy.  The niece argues that the law says that a person cannot leave their property to a dog so the provision should fail and the property should go to her.

i) TC: The court looks at what the testator meant because of latent ambiguity; The evidence showed that the testator did not want the property to go to the niece.  The trial court said that all of the property should got to Quinn (The language about the dog was just precatory)

c) After applying the modern rule, the court in this case says that the evidence does not make the plain language of the will ambiguous and so the evidence of intent is not admissible.  (The only reasonable way to read the will was that the dog should get half)

11) Correcting mistakes

a) Under the common law the court would not allow extrinsic evidence to correct a scriveners mistake.

b) Modern rule: Some courts will admit evidence of a scrivener’s mistake if there is clear and convincing evidence of the mistake and to avoid unjust enrichment.

c) Erickson v. Erickson: The court will look at extrinsic evidence about mistake to determine what was the testator’s intent.  The statute said that if the will is executed before the marriage it is revoked upon marriage if by its terms it does not contemplate the marriage.  The facts (Extrinsic) show that the testator contemplated the marriage but the lawyer did not put that into the will (Mistake).  So the court allowed the extrinsic evidence of the scrivener’s mistake to show the additional intent that did not get into the will.

d) Mis-description: Usually if the mistake is a mis-description type of mistake, the court will just reform the will to fix the mistake.

B) Death of the beneficiary before the death of the testator

1) Common law default If the beneficiary dies before the testator (Or the gift fails in some other way), what happens to the gift

a) When it is a specific or general devise: the devise lapses (Fails) and it falls into the residuary of the estate.

b) When the devise is a residuary devise: The devise lapses and it falls to the heirs that take by intestacy.

c) When the devise is a class gift: The surviving members of the class take the entire gift.

d) Where the devise goes when it fails (Lapses):

	General or Specific devise



	Residuary devise



	Intestacy



	The exception is the class gift


2) Statutory changes

a) If the devise is residue, and goes to two or more people, and one of those people die, the entire gift goes to the other residuary devisees (Does not go to the intestacy heirs like the common law)

b) If the dead devisee is of a specified (By statute) relationship to the testator and is a:

i) Descendant of the testator, or

ii) A grandparent or lineal descendant of a grandparent of the testator, or

iii) A kindred of the testator (Determined by intestacy)

And the dead devisee left issue who did survive the testator, then give the dead devisee’s gift to those issue.

c) This is the default rule that can be overridden by the language of the will.  The only time this (Or the common law rule) come into play is if the will is silent on the issue of secondary takers.

d) Wyoming’s anti-lapse statute is 2-6-106 and follows the grandparent or lineal descendant option.

e) Where does the gift go when the gift fails:

	General or specific devise



	Residuary devise (When there is more than one devisee)




	The gift is shared with the other residuary devisees



	Exception: Rules under the anti-lapse statute (Specific relationships)

	Exception: Class gift


3) Express words of survivorship: (Allen v. Talley)

a) Under the majority view (This case): If express words of survivorship are present, application of the anti-lapse statute is precluded.  These are words like “To A if he survives me.”  The devise will not then go to the issue of the dead devisee but will lapse.

b) The UPC tries to reverse the majority view in these cases.

i) Words of survivorship are alone not enough to preclude the application of the anti-lapse statute.  There needs to be something more like “To A if he survives me, if not to B.”

ii) This UPC section has not changed the majority view because it is to complex in its actual wording.

c) The will in this case contains express words of survivorship (To my siblings if they survive).  The court argues that by putting in the word “Living” the testator meant words of survivorship.  This is not a very convincing argument because the testator probably did not intend this to be words of survivorship.

d) The court applies the pain-meaning rule and does not go outside of the will.  While a latent ambiguity could be argued, the court said that the language was unambiguous.

e) In order to avoid any problems in these cases, do not rely on any presumptions.  Put the clear intentions of the testator into the will.  Ask them where they want the property to go if the beneficiary pre-deceases them.

4) Jackson v. Schultz

a) The court in this case looked to the outside world.  The husband left his wife the house “to her and her heirs and assign forever.”  The anti lapse statute does not apply in this case because the stepchildren were no eligible under the definition of the statute (They were not lineal descendants).  

b) If the estate did not go to the stepchildren it would have escheated to the state (Maybe a motivation for the court to find for the stepchildren)

c) The will does not say, however, to my wife, and if she is dead, then to my stepchildren.

d) The language “to her and her heirs and assigns forever” are merely terms of limitation that describe a fee simple absolute (Property law).  The court decides, because the husband’s clear intent was for the property to go to the wife (And eventually her children) that the word “or” should be substituted for the word “and” so the stepchildren could be called substitute takers. 

e) Procedural posture of the case: This was a contract case where the stepchildren were suing for specific performance and the D in the case did not want to honor the K because he said that they did not have clear title.  An action for specific performance is an action in equity (The court has wide discretion when it is in equity mode) so this holding should not be given too much weight; do not rely on it heavily.

5) Anti-lapse statues application to class gifts 

a) If the member of the class is of the relationship to the testator described by the anti-lapse statute, the devise will go to the deceased beneficiaries issue, not to the class.

b) Defining the class (This is a tool that is used to get at the testator’s intent

i) Was the testator group minded, or did they only want the gift to go to the named individual.

ii) Even if the class member’s are named, it may not be a complete class. Sometime the court will look at extrinsic evidence and sometimes not.

c) Dawson v. Yucus: The testator left the form to two nephews (the anti-lapse statute did not apply).  One of the nephews died, and an omitted nephew wanted to be a member of the class.

i) The court looked at the intent of the testator: she wanted the form to go to her husband’s side.  She did not name a general class, but she named specific people and omitted others.

d) In Re Moses: testator left property to his niece and to the kids of another sister (The niece died).  Question is there a separate gift to the niece and the other children, or was it a class gift.  The court said that it was a class gift (All were nieces and nephews)

C) Changes in property after the execution of the will

1) Definitions

a) Specific devise: Disposition of a specific item of the testator’s property.

b) General devise: Intends to confer a general benefit and not a particular asset (Like $)

c) Demonstrative devise: A hybrid: A general legacy payable from a specific source. (Pay B $ from the sale of Blackacre)

2) Ademption: To take away: The gift will fail

a) This doctrine applies to specific devises.  If at the time of the testator’s death, the specific item is gone (No longer part of the estate), the gift will adeem.

b) The presumption is against the finding of a specific devise.

c) Wasserman v. Cohn: Testator left an apartment building to the beneficiary in the trust.  She sold the building before her death.  Because the building was specifically identifiable, and was not there at the time of her death, the gift was adeemed.

3) Getting around ademption

a) Try to classify the gift as general rather than specific (ie.: widely traded stock is really just $ if the stock is gone)

b) Classify the change as a change in form rather than a change in substance

i) Stock splits: There is no actual change to the % of ownership (The Wyo statute supports this position)

ii) B given an automobile under the will, but it was a different automobile at the time of death; Argue that it was just a change in form.

c) Exception when the property was sold by the conservator of the incapacitated testator: The party did not have the intent to revoke the gift (B gets the $ instead)

d) Reacquisition: The testator sells the devise and then buys it back: The court will presume that the reacquisition was to fund the devise.

e) When the $ was transferred from the bank account left to the B to another investment: Argue that the gift was the $ and not the bank account, or argue that it was only a change in form. 

4) UPC and ademption

a) Creates a mild presumption against ademption: gets the person the devise if the estate can afford the devise.

5) Order of abatement: Where does the $ come from if the estate is not big enough to deal with all of the devises: have to take something away to give something else in this order:

a) Intestate: if all of the property is not devised (No residuary clause)

b) Residuary

c) General devises

d) Specific and demonstrative devises

e) The order of the abatement can be changed by will (So can the doctrine of ademption)

f) WYO stat 2-7-808: This statute outlines the same order of abatement as above except demonstrative devises are coupled with general devises and any property that is left to the surviving spouse is always last.

D) Specific devise of real property when there is a mortgage

1) In some jurisdictions (And common law) it is presumed that the testator wanted the property to pass free and clear (The residuary of the estate must pay off the mtg.)

2) Most states have reversed this by statute and say that the property passes subject to the mortgage (WYO view)

E) Satisfaction

1) This is like the doctrine of advancements except when there is a will

2) If the testator is the parent of the beneficiary, and after the execution of the will transfers to the beneficiary property of a similar nature to that given by the will, there is a rebuttable presumption that the gift is in satisfaction of the gift made by the will.

a) This doctrine does not apply to specific bequests, only general ones.

3) Very few states, including WYO, have rebutted this presumption by statute.
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Example D below








Person leaves spouse and issue





Person leaves spouse, no issue





Person leaves Issue and no spouse





No issue, or spouse but parents or siblings





Only collateral kin left





Four presumptions under parentage act





Elements








